
𝑀𝑢𝑙𝑡𝑖𝑝𝑙𝑦 𝐴     𝐵 1     2
3     4

1     2
3     4
5     6

𝐴 = 𝐵 =
𝑃𝑜𝑖𝑛𝑡 𝑡𝑜 𝑤ℎ𝑒𝑟𝑒 𝑦𝑜𝑢
𝑙𝑜𝑜𝑘. 𝐵𝑜𝑡ℎ 𝐻𝑎𝑛𝑑𝑠!

1     2
3     4

1     2
3     4
5     6

2 × 23 × 2

3 × 2

2 = 2

=

𝐿𝑒𝑓𝑡 ℎ𝑎𝑛𝑑 𝐻𝑜𝑟𝑖𝑧𝑜𝑛𝑡𝑎𝑙
 𝑅𝑖𝑔ℎ𝑡 𝐻𝑎𝑛𝑑 𝑉𝑒𝑟𝑡𝑖𝑐𝑎𝑙!

1 × 1 + 2 × 3        1 × 2 + 2 × 4        
3 × 1 + 4 × 3        3 × 2 + 4 × 4        
5 × 1 + 6 × 3        5 × 2 + 6 × 4        

7        10
15     14
23     34

You end up 
with the # of 
rows in the first 
matrix and the 
number of 
columns in the 
second. 

*Appropriately(𝐼𝑓 𝐴 𝑖𝑠 1𝑠𝑡)

𝑟ଵ ;  𝑎𝑙𝑙 𝑎𝑏𝑜𝑢𝑡 𝑎௥ଵ      𝑡𝑖𝑚𝑒𝑠 𝑒𝑣𝑒𝑟𝑦𝑡ℎ𝑖𝑛𝑔 𝑖𝑛 𝑏∗

𝑟ଶ ;  𝑎𝑙𝑙 𝑎𝑏𝑜𝑢𝑡 𝑎௥ଶ                          "
𝑟ଶ ;  𝑎𝑙𝑙 𝑎𝑏𝑜𝑢𝑡 𝑎௥ଷ                          "

=

3 × 2

Answer

1     2
3     4

1     2
3     4
5     6

=
7

Coincidence it is the same 
type as Matrix A!

1     2
3     4

1     2
3     4
5     6

=
      10

1     2
3     4

1     2
3     4
5     6

=
15

1     2
3     4

1     2
3     4
5     6

= 22

1     2
3     4

1     2
3     4
5     6

=

23

1     2
3     4

1     2
3     4
5     6

=

34

Steps

𝑆𝑐𝑎𝑙𝑎𝑟 𝑃𝑟𝑜𝑑𝑢𝑐𝑡 −  𝑚𝑢𝑙𝑡𝑖𝑝𝑙𝑦 𝑎 𝑛𝑢𝑚𝑏𝑒𝑟 𝑐 × 𝐴

1     2
3     4
5     6

𝐴 = 𝑐 = 2
  2       4
  6       8
10     12

2𝐴 =

1 × 2     2 × 2
3 × 2     4 × 2
5 × 2     6 × 2

𝑐𝐴 =

𝐴𝑐 = 𝐴2 = 2𝐴
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